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NEW QUESTION 1
Refer to the exhibit.

R1&# sh ron | begin line con
hna con o
excc-timeout 00
privilege level 15
lexgoaingg synchiomons
stopbits 1
line auwx o
axac-timeaout OO
privilege lovel 15
logoing synchronous
slopbils 1
line vy 0 4
password 7 045502150C2E
Toaggin

lina vy & 15
password 7 045802150C2E
login
]
cnd
R1#& sh run | inciude aaa | enable

no aaa new-modal
R1#

Which privilege level is assigned to VTY users?

N N
w

cow>
o

Answer: D

NEW QUESTION 2
A client device fails to see the enterprise SSID, but other devices are connected to it. What is the cause of this issue?

A. The hidden SSID was not manually configured on the client.

B. The broadcast SSID was not manually configured on the client.

C. The client has incorrect credentials stored for the configured hidden SSID.

D. The client has incorrect credentials stored for the configured broadcast SSID.

Answer: A

NEW QUESTION 3
Drag and drop the description from the left onto the correct QoS components on the right.
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

Traffic Policing: Drops excessive Traffic, causes TCP retransmissions, introduce no delayl/jitter Shaping: buffers, excessive traffic, introduce delay and jitter,
typically delays, rather than drops traffic

NEW QUESTION 4
When configuration WPA2 Enterprise on a WLAN, which additional security component configuration is required?
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A. NTP server
B. PKI server
C. RADIUS server
D. TACACS server

Answer: C

NEW QUESTION 5
If a VRRP master router fails, which router is selected as the new master router?

A. router with the highest priority
B. router with the highest loopback address
C. router with the lowest loopback address
D. router with the lowest priority

Answer: A

NEW QUESTION 6
Which PAgP mode combination prevents an Etherchannel from forming?

A. auto/auto

B. desirable/desirable
C. auto/desirable

D. desirable

Answer: A

NEW QUESTION 7
Which statement about Cisco Express Forwarding is true?

A. It uses a fast cache that is maintained in a router data plane.

B. maintains two tables in the data plane the FIB and adjacency table.

C. It makes forwarding decisions by a process that is scheduled through the 10S scheduler.
D. The CPU of a router becomes directly involved with packet-switching decisions.

Answer: B

NEW QUESTION 8

Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.
B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.
D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 9

Which OSPF networks types are compatible and allow communication through the two peering devices?

A. broadcast to nonbroadcast

B. point-to-multipoint to nonbroadcast

C. broadcast to point-to-point

D. point-to-multipoint to broadcast

Answer: B

NEW QUESTION 10
Refer to exhibit.
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SV SW2 SW3a

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command
ensures that SWa3 receives frames only from VLAN 507

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 10
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A response code of 404 is received while using the REST API on Cisco UNA Center to POST to this URI.
/dna/intent/api/vl /template-programmer/project
What does the code mean?

A. The client made a request a resource that does not exist.
B. The server has not implemented the functionality that is needed to fulfill the request.
C. The request accepted for processing, but the processing was not completed.

D. The POST/PUT request was fulfilled and a new resource was created, Information about the resource is in the response body.

Answer: A

NEW QUESTION 11
What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 14
What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?

A. faster deployment times because additional infrastructure does not need to be purchased
B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 15
Which DNS lookup does an access point perform when attempting CAPWAP discovery?

A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 18
Refer to the exhibit.
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A port channel is configured between SW2 and SW3. SW2 is not running a Cisco operating system. When all physical connections are mode, the port channel

does not establish. Based on the configuration excerpt of SW3, what is the cause of the problem?
A. The port channel on SW2 is using an incompatible protocol.

B. The port-channel trunk is not allowing the native VLAN.

C. The port-channel should be set to auto.

D. The port-channel interface lead balance should be set to src-mac

Answer: A

NEW QUESTION 20

Which two GRE features are configured to prevent fragmentation? (Choose two.)

A. TCP window size
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B. TCP MSS
C.IP MTU

D. DF bit clear
E. MTU ignore

Answer: BC

NEW QUESTION 21

What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful API interface for orchestrator communication

D. Interface between the controller and the consumer

Answer: A

NEW QUESTION 24

Which technology provides a secure communication channel for all traffic at Layer 2 of the OSI model?

A. MACsec

B. IPsec

C.SSL

D. Cisco Trustsec

Answer: A

NEW QUESTION 27

Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. onboard vEdge nodes into the SD-WAN fabric

B. distribute security information for tunnel establishment between vEdge routers

C. manage, maintain, and gather configuration and status for nodes within the SD-WAN fabric

D. gather telemetry data from vEdge routers

Answer: B

NEW QUESTION 32

What is the difference between the enable password and the enable secret password when service password encryption is enable on an IOS device?

A. The enable password is encrypted with a stronger encryption method.

B. There is no difference and both passwords are encrypted identically.

C. The enable password cannot be decrypted.

D. The enable secret password is protected via stronger cryptography mechanisms.

Answer: D

NEW QUESTION 35
Refer to the exhibit.

Rl#dabug 1p <capf hellos
Rlf#debug condition interface Fad/1

Which statement about the OPSF debug output is true?

A. The output displays all OSPF messages which router R1 has sent to received on interface Fa0/1.

B. The output displays all OSPF messages which router R1 has sent or received on all interfaces.

C. The output displays OSPF hello messages which router R1 has sent received on interface Fa0/1.

D. The output displays OSPF hello and LSACK messages which router R1 has sent or received.

Answer: C

NEW QUESTION 38
Drag and drop the characteristics from the left onto the correct routing protocol types on the right.

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



@ 2passeasy

Welcome to download the Newest 2passeasy 350-401 dumps
https://lwww.2passeasy.com/dumps/350-401/ (100 New Questions)

SPT
suppoits unegu dgth lwad balaniing I
|
1
L SEate routin Drofocol
|
distance vedtor roubing prmotoc |
1
i } | i ——
; EIGRP
| alk &S easy Lo segment the nelwork gica |
1
|
Ot t rat . r F r ik =
SOy Lal sl fouling Lab

A. Mastered
B. Not Mastered

Answer: A
Explanation:

OSPF: SEGMENT, LINK STATE, TABLES
EIGRP: UNEQUAL PATH, DISTANCE VECTOR, METRIC

NEW QUESTION 43

To increase total throughput and redundancy on the links between the wireless controller and switch, the customer enabled LAG on the wireless controller Which

EtherChannel mode must be configured on the switch to allow the WLC to connect?

A. Auto

B. Active
C.On

D. Passive

Answer: C

NEW QUESTION 45
Refer to the exhibit.
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Which HTTP JSON response does the python code output give?
A. NameError: name 'json' is not defined
B. KeyError 'kickstart_ver_str'
C.7.61
D. 7.0(3)I7(4)
Answer: B
NEW QUESTION 47
What does this EEM applet event accomplish?
"event snmp oid 1.3.6.1.3.7.1.5.1.2.4.2.9 get-type next entry-op g entry-val 75 poll-interval 5"

A. It issues email when the value is greater than 75% for five polling cycles.
B. It reads an SNMP variable, and when the value exceeds 75% for live polling cycles.
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C. It presents a SNMP variable that can be interrogated.
D. Upon the value reaching 75%, a SNMP event is generated and sent to the trap server.

Answer: B

NEW QUESTION 51

What are two common sources of interference for WI-FI networks? (Choose two.)
A. radar

B. LED lights

C. rogue AP

D. conventional oven

E. fire alarm

Answer: AC

NEW QUESTION 52
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